Qty. 1 3/8” x 3” hex head cap screw Use these in the lower hole when attaching the
aty. 1 3/8” serrated flange nut wheel fork to the jack, tighten securely.
Qty. 1 handle latch Use these in the upper hole when attaching the
N N wheel fork to the jack. Securely tighten using the
Qty. 1 3/8” x 31/4”  hex head cap screw serrated flange nut. Then place the handle latch
» onto remaining threads and add the lock nut, do
Qty. 1 3/8 serrated flange nut not over tighten as the latch must move freely.
Qty. 1 3/8” lock nut
Qty. 2 3/8” x11/4” hex head cap screws
Use these to attach the handle yoke to the wheel
Qty. 2 5/116” flat washers fork. Place washer between yoke and fork.
Qty. 2 3/8” lock nuts




